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- MNU 3-11a Homework 5 Level i
Outcome 1 - Outcome 2 - Area, Calculating Missing Sides
Millimetres > Centimetres > Metres Calculate the length of the missing sides...
Change the following units of measurement Area Area 24 m? ~ 2m| 5%,
g g Llsimiom & 3m 30 m
2m 5 m
& 067cm=?mm 2 0289m=?cm & [ lon & (e s —
28 cm?
e 0073m=>mm & 948m=?cm T 36cm? 4M - 6em| g6 cm?
| ?cm -
. =? . ) ? cm
'5 46-2 m =2 mm ﬁ 342mm=?cm & Area |, 8 | Area20m?>m 2
Z 06%cm=>m 8 578mm=2m 6m 10m om | Area
8 54 m?
& 0023cm=>m H&& 427mm=>m | 1Q '“Lm 120 cm?
?cm ?2m
Outcome 3 - Millilitres > Cubic Centimetres - Litres Outcome 4 - Volume, Calculating Missing Sides
Calculate the length of the missing sides...
Change the following units of measurement... 2 em 9 cm 7 m
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